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1| +4|FEN] FEEX H./)—2 76 38 38 25
1| +4|Fhl F1E FLIRER 76 38 38 25
1| +4|5F BX OO 76 41 35 25
4] +5|F WX OO 77 | 39 38 22
5] +6|KE & BB 78 | 37 4 21
5| +6/Af TIBA Iy 78 | 38 40 21
5/ +6|mAK B NE=NL— 718 40 38 21
8| +1|"MAN m=2 FLIRER 79 | 40 39 18
8| +7|=iF #BXx FLIRY— TUb 79 | 41 38 18
10| +8|hHA Eif FLIRY—Y T 80 | 39 41 16
10| +8|f5 K FH— BEN 80 39 41 16
12| +9|iFH IEBH 54+ AT475 B 81 43 38 14
12| +9|=F F& FLIR E 81 40 A 14
14| +10|RKEE AX HE)A 82 | 39 43 12
14| +10|FT HEdH FLIRY—Y b 82 | 43 39 12
14| +10|;RA E—B F & 82 40 42 12
17| +11| T BH FH 83 39 44 10
17 +11[#E B Hhy 7’ 83 | 43 40 10
17 +11[/)\B #h& iR 83 | 41 42 10
17+ X OO 83 | 39 4 10
21| +12|#)1 E— DS5—4 84 40 44 10
21| +12|#E JEE FLIREIRE 84 | 47 37 10
21| +12|EH REBR VES D) 84 43 41 10
21 +12|AH # F  ® 84 | &1 43 10
25| +13|=45 FOif LIRS 85 | 41 m 10
25| +13| ik & FLIRE S 85 43 42 10
27] +14|548 F B 86 | 44 42 10
17| +14(3)Il Fi FLIRT L Ls 86 | 44 4 10
29| +15|=)Il IEAI IN=H)-Y 87 45 42 10
29| +15|{FEE {EIE AYI-TY 87 47 40 10
31| +16|EE EZ FHUEE 88 | 42 46 10
32 +17|AE E— F = 89 | 46 43 10
32| +17|%Efe & ITLX 89 | 48 41 10
34| +18|/lLA &R FLIRT L Ly 90 | 48 42 10
35| +20|=1F FEE# ooOR 92 | 45 47 10
35| +20|5EH B ¥R 92 | 43 49 10
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